1312 F, =801b
5

d the coordinate angles of Fr

e) Find the resultant moment about O (express as a Cartes olf "t y
50‘%’('\0&8 // F,=501b
A (0/410) Pt ,.:z» \Z,ls /
3 (2,0, -6) Bk Lo 4% '
C (—25)0){) F)" =
_— N n A n
- ~25 i -4y + €K c=es)(3)
AC i - A | J + . (6 .T
|fac) J 252 4 42 4 ¢ 0 j
= -0.328? - 0-6243 + 0. TQ6K \_xzf_.
o - 4 A
Uag= a8 _ of =4y ¢k _ 0-267?—0-‘3353-0-902\‘
I,
\AB) J27'+47'+52
- — - N ~ (g
Uoe = foc  _ 280 + €K - _o.335( + 0923K

ICC\ J26r 4 42

a.) ﬁ - \\'_\\ (fAL = <0 Eo.zzs?—o-ezzt'ja,o.-rssﬁ]
= 26247 - 4192 + 6238 K (Ib)

E — \].‘2\ WAB - 63 [0-261’1\—0-6253_0.?02\<]

- 12.367 ~26T5) - 46.1K (Ib)



.

AT
- (-25-24? - 4192 ) + 6298 R).{o.a‘bs}\ + 0923 RB

= 1040 4+ 0 +5%.03
= ¢3.14 (1b)

— —

OF =F+F

— 26245 - 4 ,q23 + £2.99 R—\— |2.?€,i\ -24.7cj‘ — 46.1k
= -12.881 — 8.2 3 =R 2 7%\2 (lb)
d) E_z = —o,(74"|\ — 0-‘13’43 +0-?)(\\<
\FR\
. (o) =100.02°
- cos‘ (-0-934) =1/59.07°
y = ' (0. ) =094

) W - Tu x (F+R) = Tax Ry

i B 2
= | ) K
4 6

-12-8q4  — 4862 22 .7

= q\-ll{: + V.)l-‘§6‘2 (”DH‘)



'Erobiem 2. (6 points) _C)

A 4-kg sphere rests on the smooth parabolic surface and is held in

equilibrium by block B connected to the sphere by a cord, as
shown. Determine:

a) The normal force from the surface on the sphere ' _
b) The mass block B.
Solution? ) B‘
oo Lol Joo b e § s
4= 5% b :
/ > o Lo T y =250
\5 - 5 y & &?ﬁ 0.~Im
‘5/ = S (04) (04 ) 0.4) - 0.4m—
= 1
4’ = tan@ - 2= éaoné S =
O=tan(2) = 63.43 | /.
60
o) equlibrigm 7 2Fx=°
T®3Fy =0 TW = mg
=4(9.3))
£ =9 . =39.24N
Teos€0 —Nasin 638 =0 —
SFy =0 Syt W= Mg9
Tsindd + N 0s63-43 — 3924 =0 | Meg =
ool Yo Me = 25 K4

9.3\
T= 35 [gA(N) = 3.635 (K9)

N = 19.66 (N)



S=1L —
SP
when

is sheched

L

O
when it 1S
unstreched.

L _
wsk';n it J 4+ -0)(3) cos 50°
is Sheched

Prom Hhe low of Cosine

= 0779 (M)

S= 0779 -05 = 0.274

b= KS = A00 (0.279)
= 111.6 N

Now to fl'ndl 6 we e H’LQ I(LVO or SiNe

0T = 08 > = 29.45°
Sinko’ sinb >




15 i/ﬁ: =0
~(Ne)(0-5)
—(lll & sin zw%\(-{-cos 50 )
= (Il € cos 2<\.4"z>(l/Z 5in56°)
+ Goosimo°)<1c,osso°)
+(100 05 36" ) ( | sinso®) = O
bl s

Np = 87.16 (N)

T sFy=0
i 0y
_ (16 Cos 2945°)
+ (IOO (oS ?O")
~(37-15 sins0’) =0

%
Oy = 77 34 (A))/\\




eFyx =0

+Ox
- (l\l-é sin2a-4s°)
+(100 $in28)

,(gﬂ% (0560 ) =0

v

Ox = 60.390 (N) —>



